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Section A, B and C are compulsory for all Regular and Private students. Please
follow the instructions, given in each section. Marks distribution for all st.u'dents
are as shown in question paper, The blind candidates will be given 60 minutes

extra time,
quE ¥ o ?ﬂgﬁﬁs Section A : Objective Regular 5x1=5 / Private 5x1=5
1. 7 W AW BT & ? Which one of the ratio is smaller ?
(a) 3:4 (b} 6:7 (c) 78 (d) 17:15.
2. uR x-4=6,8 & x T AW T : If x — 4 = 6, than the value of x will be :
(a) 1.5 (b) 2.0 (c) 10.0 (d) 24.0.

3. R @ A @i ulEkE i s o Y

The order of matrix having four columns and three rows is :

(a) I x4 (b) 4x3 (c) 4x4 (d) 3x3.
4. 206.35 ¥ wgorw 0 Qils ¥ : Characteristic of logarithm of 206.35 is :
(a) 3 (b) 1 (c) 2 @) 4.

5. UF wfRkr & oF e 660 v F IHT 20% WH T, T T 9@
A man sold a mobile for Rs. 660, gaining 20% profit, the purchase price was *
(a) Rs. 550 (b) Rs. 505
(c) Rs. 440 (d) Rs. 404,

W ¥ : WY IWUE Section B : Short Answer Regular 5x3=15 / Private 5x3=15

L. gu AT urft 3 200 et Roswr & 150 fex gr R | Reaw ¥ wrdt o s s v |

In 200 litre mixture of milk and water, milk is 150 litre. Find the percentage of water in the
mixture,

Juar OR
w2 # ofonfe Aty Tar e o TRy |

Define discount and explain their types.
2. gewens ARy ¥ & AR : Solve by comparison method :
3x-5y=11; 4x+5y=3,

IgEar OR
ﬁlﬂmmw&mi’f:ﬁtwmi

Distinguish between invoice and proforma invoice,
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of xan

 weT el aft : Find the val®

3. x @My HA

x+8y 4|_| 17 4]. O-R

if
94 + 3B I AT darsit afe : Find2A+3B?
+

3
3] 5 [7 6 J
A=[g ? 4]'5“[1 45

T 1 TR & x A @ :ﬁle;garithm where !
* ??E-:d the value of x with the help 0

_15x1.2

0.036 - o OR

. I st.
T = R T & mﬁmﬁf‘fmd Compound Intere
Explain the difference between Simple Intere

Ry R & AT AT A N i frequencytahle:
. Calculate the arithmetic mean from the following

i 8
AT 5 6
. : e 31 1:2 205 115 79 40 1
- 60 1
St (F) : 2
Fqar OR

AT R, oo e war avr & v s 8 7 httpy//www.davvonline.com
I * i - 9
What is the meaning of cost price, selling price and proft ?

% W : & 3989 Section C : Long Answer Regular 5x4=20 / Private 5x6=30
1. W@mﬁwm%?m@m%&mmﬁﬁaﬁammmaﬁm I

What do you mean by Proportion ? Explain various forms of proportion with suitable examples.
|99t OR

@@aﬁmﬁﬁws%mﬁrzo,uuumamﬁhﬁw 12%
IE 35,000 S A 7@ 3y | mm,mmhwﬁwm#maﬁﬁﬁq 1

An agent gets 3% commission on-total sale and 1%% bonus on the amount of
Rs. 20,000. He sold goods amounting to Rs. 3
remuneration,

2. Wﬁﬁm%sﬁm#ﬁﬁdfwaﬂhﬁﬁq !
plai ds of solving simultaneoys equations,

a7 Rar st ¥ | 3

the sale exceeding

5,000. Calculate hig commission, honus and

» T 12,50
(v) -5021:5:3@5,”%“55@;%%' T Ry A |
(=) 20 ST %2 75 w7k 3y
(3} EUHTE‘{?‘-(:FOmWPd%I
(%) 20 7 AR 2% 10 5
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3 150

e sold the following goods to M/s Manish & Sons, Bhopal :
er metre,

bale containing 15 metre @ Rs. 12.50 per metre,
55 each.

Yogesh Brothers M. G, Road, Indor
(a) 20 metre Terrycot @ Rs, 45 P
(b) 20 bales cotton cloth, each
(¢) 50 Shawls Kasmiri @ Rg.

(d) 20 Carpets @ Rs. 75 each,
(e) 80 Bedsheets @ Rs. 79 per pair.
(f 20 Dozen Towels @ Rs, 10 each,

Seller z_’dlows 12% trade discount and 2, cash discount if payment is made immediatly.
Following expenses were incurreq -

Packing Rs. 250, Insurance R

. s. 180, Freight Rs. 320.
Prepare an Invoice in proper for

m.

3. R R ¥R ¥ 2 sragg % st v iy i |

What is Matrix ? Explain different types of matrix,

afZ - 1If:

123 4 5 6
A=12 2 3|3RandB=|5 5 ¢
32 3 65 ¢

g &0 & : Prove that

=

=

S

=

= AB £ BA,

=

= d, ﬁmmma%mﬁmaﬁ&mﬁﬂatﬁ@tﬁwamm54@‘:%imaﬁ'«ﬂmat@m

o ATy |

< The compound interest of a sum of money at 8% for 2nd year is Rs. 54. Find the interest for
é first year and principal also.

= swEr OR

= aﬁﬁmawmﬁzaﬁi‘f1,2005@(3:1133@?17#1.300m&am%ﬁwmmﬁmm
o A | '

=]

=1

A certain sum at simple interest becomes Rs. 1,200 in 2 years and Rs. 1,300 in 3 years, find
the principal and interest percent (rate of interest) per annum.

6. Frr woi U iR e s g

Calculate Geometric Mean from the following data :

x ¢ 75 13 185 205 52 23 24 25 926 98
f: 2 3 4 5 1 13 6 3 32 1
F@ar OR

20 gt A fru R 25 TGt F H 0 F A ¥ | A a1 oty wRw s i |

The selling price of 20 articles is equal to the cost price of 25 articles. Find the gain or loss
percent.
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